

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 1, 2025

Progress Estir	mate Number	Contract ID Prime Contractor	240216-G12 APAC-Central, Inc.	Pay Period Start Pay Period End	March 16, 2025 April 1, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,794,459.94 (\$37,580.89) \$3,756,879.05
Approval Date							By User
April 2, 2025			Generated and App	roved (and should b	e considered Draf	t) at the Project Office Level by	gripkd
April 2, 2025		Re	viewed and Approved	d (and should be cor	nsidered Draft) at t	he Resident Engineer Level by	gripkd
April 4, 2025			Rev	viewed and Approve	d at the Central O	ffice Controllers Office Level by	ramses1
Original Comp	Completion Date Current Completion Date Actual Completion Date % of Current Contract Amo						
May 1, 2	1ay 1, 2025 May 1, 2025 96.44%						

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	March 6, 2024	March 6, 2024	
Letting Date	February 16, 2024	February 16, 2024	
Notice to Proceed Date	April 8, 2024	April 8, 2024	
Open to Traffic Date			
Work Began Date			

Contract Total Pa	y For Estimate No. 7			
		This Estimate	Previous	To Date
240216-G12				
	Total Posted Items Pay	\$651,319.63	\$2,971,933.22	\$3,623,252.85
	Gross Item Adjustments	\$7,500.50	(\$206,518.95)	(\$199,018.45)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$2,765,414.27	\$3,424,234.40
Contract Total Par	yable This Estimate:	\$658.820.13		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JST0074	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$28.350	560	\$15,876.00
	0020	4071005	TACK COAT	GAL	\$2.810	9,452	\$26,560.12
	0030	4081018	PRIME-LIQUID ASPHALT MC 800	GAL	\$3.010	8,149	\$24,528.49
	0180	3049910	MISC.PREMANENT AGGREGATE EDGE TREATMENT	TONS	\$15.000	1,456	\$21,840.00
	0200	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$15.000	641	\$9,615.00
	0210	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$72.150	5,955.9	\$429,718.19
	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$70.450	1,748.5	\$123,181.83
Project JST00	74 - Total						\$651,319.63
Overall - Tota							\$651,319.63

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item /	<u>Adjustr</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0074	0190	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	MaterialCredit			1,013.7	\$75.70	\$76,737.09
	0210	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	MaterialCredit			742.9	\$72.15	\$53,600.24
	0220	MISC.	Overrun		Unit price based on averaged overrun	23	\$15.00	\$345.00

Revision 3/23/2023 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 1, 2025

Progr	ress Es	timate Number 7	Contract I Prime Cor		216-G12 C-Central, Inc.	Pay Period Start Pay Period End	March 16, 2025 April 1, 2025	Net Cha	I Contract Ar ange Order A Contract An	mount (\$	3,794,459.94 37,580.89) 3,756,879.05
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	C	omments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0074						previous	for installed quant s payment estimat of ',15.00000 - 15.0 applied (if no	es. Price 10000, 'is			
	0290	BITUMINOUS F MIXTUR (SURFACE I	E PG64-22	MaterialCredit					905.3	\$70.45	\$63,778.38
	0290	BITUMINOUS F MIXTUR (SURFACE I	E PG64-22	Material					-2,653.8	\$70.45	(\$186,960.21)
Total											\$7,500.50

Revision 3/23/2023 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
JST0074		Resurface	Various	BARRY	on Routes W, N, DD, Z, T a Barry County; and on Rout		y; on Route FF in Dade County; on Rou	te MM in Christian County; on Route WW in
Totals by J	Job Numbe	ers						
JST0074					This Estimate	Previous	To Date	

	Da	irry County; and on Rout	e HH in Greene County	
Totals by Job	Numbers			
JST0074		This Estimate	Previous	To Date
	Posted Item Pay	\$651,319.63	\$2,971,933.22	\$3,623,252.85
	Gross Item Adjustments	\$7,500.50	(\$206,518.95)	(\$199,018.45)
	Gross Item Pay	\$658,820.13	\$2,765,414.27	\$3,424,234.40
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0074, Item 4020520, Project Item Line Number 0290, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Waiting on Testing.	simmeg2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-G12, Contract Project JST0074, Project Item Line Number 0120, Contract Line Item Number 0120, Item 6224010, Minor Item.	Will be on future C/O.	simmeg2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-G12, Contract Project JST0074, Project Item Line Number 0160, Contract Line Item Number 0160, Item 3049910, Minor Item.	Will be on Future C/O.	simmeg2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-G12, Contract Project JST0074, Project Item Line Number 0420, Contract Line Item Number 0420, Item 6206001C, Minor Item.	Will be on Future C/O.	simmeg2	Acknowledged

Revision 3/23/2023 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
WIII.OOWTOO	140.		140.	Code		Quantity	Order	Quantity		Approved Qty		generated date)
40216-G12	JST0074	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,734.00	-49.00	1,685.00	TONS	1,126.00	\$28.35	\$31,922.1
		0001	0020	4071005	TACK COAT	41,703.00	-1,194.00	40,509.00	GAL	39,071.00	\$2.81	\$109,789.5
		0001	0030	4081018	PRIME-LIQUID ASPHALT MC 800	25,245.00	-2,461.00	22,784.00	GAL	18,291.00	\$3.01	\$55,055.9
		0001	0040	4134000	BITUMINOUS FOG SEAL	501.00	0.00	501.00	GAL	0.00	\$5.58	\$0.0
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$520.00	\$1,040.0
		0001	0060	6169901	MISC.TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$56,200.00	\$56,200.0
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$249,080.00	\$249,080.0
		0001	0080	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$310.00	\$0.0
		0001	0090	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	403,317.00	364.00	403,681.00	LF	211,294.00	\$0.14	\$29,581.
		0001	0100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	456,371.00	-20,849.00	435,522.00	LF	199,132.00	\$0.14	\$27,878.4
		0001	0110	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	10,701.00	0.00	10,701.00	SQYD	6,964.00	\$2.30	\$16,017.2
		0001	0120	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,042.00	0.00	4,042.00	SQYD	4,709.00	\$13.00	\$61,217.
		0001	0130	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,500.00	\$2,500.0
		0051	0140	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,204.80	-440.80	764.00	TONS	764.00	\$15.00	\$11,460.0
		0051	0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,560.80	-7.80	4,553.00	TONS	4,553.00	\$77.95	\$354,906.3
		0052	0160	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,296.40	0.00	1,296.40	TONS	1,616.00	\$15.00	\$24,240.0
		0052	0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,923.10	0.00	4,923.10	TONS	4,923.10	\$73.05	\$359,632.4
		0053	0180	3049910	MISC.PREMANENT AGGREGATE EDGE TREATMENT	1,895.60	0.00	1,895.60	TONS	1,456.00	\$15.00	\$21,840.
		0053	0190	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,024.60	0.00	7,024.60	TONS	7,013.70	\$75.70	\$530,937.
		0054	0200	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,670.00	0.00	1,670.00	TONS	641.00	\$15.00	\$9,615.
		0054	0210	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	6,703.30	0.00	6,703.30	TONS	6,698.80	\$72.15	\$483,318.
		0055	0220	3049910	LEVELING) MISC.PERMANENT AGGREGATE EDGE TREATMENT	919.00	23.00	942.00	TONS	942.00	\$15.00	\$14,130.
		0055	0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,843.40	-2.30	3,841.10	TONS	3,841.00	\$73.00	\$280,393.
		0056	0240	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	564.80	0.00	564.80	TONS	564.80	\$15.00	\$8,472.
		0056	0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	2,133.50	0.00	2,133.50	TONS	2,130.40	\$77.65	\$165,425
		0057	0260	3049910	LEVELING) MISC.PERMANENT AGGREGATE EDGE TREATMENT	303.40	-303.40	0.00	TONS	0.00	\$15.00	\$0.
		0057	0270	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	1,176.30	0.00	1,176.30	TONS	1,176.30	\$76.55	\$90,045
		0058	0280	3049910	LEVELING) MISC.PERMANENT AGGREGATE EDGE TREATMENT	701.40	0.00	701.40	TONS	0.00	\$15.00	\$0.
		0058	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	2,654.50	0.00	2,654.50	TONS	2,653.80	\$70.45	\$186,960.
		0059	0300	3049910	LEVELING) MISC.PERMANENT AGGREGATE TREATMENT	709.40	-445.40	264.00	TONS	264.00	\$15.00	\$3,960.
		0059	0310	3105002	GRAVEL (A) OR CRUSHED STONE (B)	162.00	-40.00	122.00	TONS	122.00	\$35.00	\$4,270.
		0059	0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,610.00	0.00	2,610.00	TONS	2,610.00	\$80.05	\$208,930.
		0059	0330	4071005	TACK COAT	3,368.00	-243.00	3,125.00	GAL	3,125.00	\$2.81	\$8,781.
		0059	0340	4081018	PRIME-LIQUID ASPHALT MC 800	2,093.00	-720.00	1,373.00	GAL	1,373.00	\$3.01	\$4,132.
		0059	0350	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	37,456.00	-241.00	37,215.00	LF	37,215.00	\$0.15	\$5,582.
		0059	0360	6224010	MARKING PAINT, TYPE P BEADS MODIFIED COLDMILLING (DEPTH TRANSITIONS)	444.00	0.00	444.00	SQYD	444.00	\$13.05	\$5,794.
		0060	0370	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	613.00	0.00	613.00	TONS	456.50	\$15.00	\$6,847.
		0060	0380	3105002	GRAVEL (A) OR CRUSHED STONE (B)	234.00	0.00	234.00	TONS	147.00	\$35.00	\$5,145.
		0060	0390	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,378.60	0.00	2,378.60	TONS	2,378.10	\$67.65	\$160,878.
		0060	0400	4071005	TACK COAT	3,065.00	0.00	3,065.00	GAL	2,734.00	\$2.81	\$7,682
		0060	0410	4081018	PRIME-LIQUID ASPHALT MC 800	1,809.00	0.00	1,809.00	GAL	1,750.00	\$3.01	\$5,267.
		0060	0420	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	32,366.00	0.00	32,366.00	LF	32,564.00	\$0.15	\$4,884.
		0060	0430	6221001	MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	997.00	0.00	997.00	SQYD	997.00	\$5.00	\$4,985.0
		- 500			SURFACING (3 IN. THICK OR LESS)	237.00	3.00	237.00		227.00	\$5.03	ψ 1,000.

Revision 3/23/2023 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240216-G12	JST0074	0060	0440	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	444.00	0.00	444.00	SQYD	444.00	\$10.50	\$4,662.00
	Project J	ST0074 - To	tal Value	Posted to D	late as of Report Generated Date							\$3,623,460.74
240216-G12 Ove	rall - Total	Value Post	ted to Dat	e as of Rep	ort Generated Date							\$3,623,460.74

Revision 3/23/2023 Page 6 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JST0074

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	3/19/25	4/1/25	122.00	TONS	Route DD					
			3/20/25	4/1/25	178.00	TONS	Route DD					
			3/21/25	4/1/25	260.00	TONS	Route Z					
0020	4071005	TACK COAT	3/17/25	3/31/25	2,278.00	GAL	Route Z					
			3/18/25	3/31/25	3,248.00	GAL	Route Z					
			3/19/25	4/1/25	921.00	GAL	Route Z					
			3/27/25	4/1/25	3,005.00	GAL	Route FF					
0030	4081018	PRIME-LIQUID ASPHALT MC 800	3/19/25	4/1/25	1,253.00	GAL	Route DD					
			3/20/25	4/1/25	2,001.00	GAL	Route DD					
			3/21/25	4/1/25	3,234.00	GAL	Route DD and Z					1639 gal on Z 1595 gal on DD
			3/24/25	4/1/25	1,661.00	GAL	Route Z					
0180	3049910	MISC. AGGREGATE FOR BASE	3/19/25	4/1/25	768.00	TONS	Route DD					
			3/20/25	4/1/25	688.00	TONS	Route DD					
0200	3049910	MISC. AGGREGATE FOR BASE	3/21/25	4/1/25	641.00	TONS	Route Z					
0210	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	3/14/25	3/31/25	905.30	TONS	Route Z					
			3/17/25	3/31/25	1,705.90	TONS	Route Z					
			3/18/25	3/31/25	2,571.20	TONS	Route Z					
			3/19/25	4/1/25	773.50	TONS	Route Z					
0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	3/14/25	3/31/25	-905.30	TONS	Route Z					
			3/27/25	4/1/25	2.653.80	TONS	Route FF					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 7 of 11



Line Item Adjustments by Estimate

Contract ID: 240216-G12

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
JST0074				Type				(40.004.00)	
	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		2	Nov 1, 2024	SYSTEM	(\$6,804.00)	
			- Total					(\$6,804.00)	
			Material - Tota	I				(\$6,804.00)	
			MaterialCredit		3	Nov 18, 2024	SYSTEM	\$6,804.00	
				- Total				\$6,804.00	
			MaterialCredit	- Total				\$6,804.00	
	0010 -	Total						\$0.00	
	0020	TACK COAT	Material		1	Oct 15, 2024	SYSTEM	(\$3,841.27)	
				- Total				(\$3,841.27)	
			Material - Total					(\$3,841.27)	
			MaterialCredit		2	Nov 1, 2024	SYSTEM	\$3,841.27	
				- Total				\$3,841.27	
			MaterialCredit - Total					\$3,841.27	
	0020 -	Total						\$0.00	
	0090	4 IN. WHITE WATERBORNE	Other Item Adjustment	REFL	5	Dec 16, 2024	simmeg2	\$876.13	This is a Retro-Reflectivity bonus on Routes W, N, T, OO, MM in Various Counties.
		PAVEMENT MARKING		REFL - Tota	ıl			\$876.13	
			Other Item Adj	justment - To	tal			\$876.13	
	0090 -	Total						\$876.13	
	0100	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Other Item Adjustment	REFL	5	Dec 16, 2024	simmeg2	\$457.71	This is a Retro-Reflectivity bonus on Routes W, N, T, OO, MM in Various Counties.
				REFL - Total				\$457.71	
			Other Item Adjustment - Total					\$457.71	
	0100 -	Total						\$457.71	
	0120	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	6	Mar 17, 2025	SYSTEM	(\$8,671.00)	
				Overrun - Total				(\$8,671.00)	
			Overrun - Total					(\$8,671.00)	
	0120 -	Total						(\$8,671.00)	
	0140	MISC. AGGREGATE FOR BASE	E		2	Nov 1, 2024	SYSTEM	\$11,460.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user simmeg2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Nov 1, 2024	SYSTEM	(\$11,460.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0140 -	Total						\$0.00	
	0160	MISC. AGGREGATE FOR BASE	Overrun	Overrun	4	Dec 2, 2024	SYSTEM	(\$4,794.00)	
				Overrun - Total		(\$4,794.00)			
			Overrun - Total					(\$4,794.00)	
	0160 -	Total						(\$4,794.00)	
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		2	Nov 1, 2024	SYSTEM	(\$161,367.45)	
			- Total					(\$161,367.45)	
			Material - Tota	erial - Total					
			MaterialCredit		3	Nov 18, 2024	SYSTEM	\$161,367.45	
				- Total				\$161,367.45	
			MaterialCredit - Total					\$161,367.45	
	0170 -	Total						\$0.00	
	0190	BITUMINOUS	Material		6	Mar 17,	SYSTEM	(\$76,737.09)	



Line Item Adjustments by Estimate

Contract ID: 240216-G12

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Γ0074	0190	PAVEMENT MIXTURE	Material			2025			
		PG64-22 (SUR		- Total				(\$76,737.09)	
			Material - Total					(\$76,737.09)	
			MaterialCredit		7	Apr 1, 2025	SYSTEM	\$76,737.09	
				- Total				\$76,737.09	
			MaterialCredit	- Total				\$76,737.09	
	0190 -	Total						\$0.00	
	0210	BITUMINOUS PAVEMENT MIXTURE	Material		6	Mar 17, 2025	SYSTEM	(\$53,600.24)	
		PG64-22 (SUR		- Total				(\$53,600.24)	
			Material - Tota					(\$53,600.24)	
			MaterialCredit		7	Apr 1, 2025	SYSTEM	\$53,600.24	
				- Total				\$53,600.24	
			MaterialCredit	- Total				\$53,600.24	
	0210 -		Material		0	No. 3	over-:	\$0.00	This adjustment off state the said
	0220	MISC. AGGREGATE FOR BASE	Material		2	Nov 1, 2024	SYSTEM	\$12,990.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user simmeg2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Nov 1, 2024	SYSTEM	(\$12,990.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun	4	Dec 2, 2024	SYSTEM	(\$346.50)	
					6	Mar 17, 2025	SYSTEM	\$1.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',15.00000 - 15.00000, 'is applied (if non-zero).
					7	Apr 1, 2025	SYSTEM	\$345.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',15.00000 - 15.00000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - Tota					\$0.00	
	0220 -	20 - Total						\$0.00	
	0270	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		1	Oct 15, 2024	SYSTEM	(\$90,022.80)	
				- Total				(\$90,022.80)	
			Material - Tota		2			(\$90,022.80)	
			MaterialCredit			Nov 1, 2024	SYSTEM	\$90,022.80	
			- Total					\$90,022.80	
	0070		MaterialCredit - Total					\$90,022.80 \$0.00	
		0270 - Total							
	0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		7	Mar 17, 2025 Apr 1,	SYSTEM	(\$63,778.38) (\$186,960.21)	
				- Total	,	Apr 1, 2025	SISIEW	(\$250,738.59)	
			Material - Tota						
			Material Credit		7	Apr 1, 2025	SYSTEM	(\$250,738.59) \$63,778.38	
				- Total				\$63,778.38	
			MaterialCredit	MaterialCredit - Total					
	0290 -	Total						(\$186,960.21)	
	0300	MISC. AGGREGATE FOR BASE	Material		2	Nov 1, 2024	SYSTEM	\$3,960.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user simmeg2 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Line Item Adjustments by Estimate

Contract ID: 240216-G12

ST0074 0300 MISC. AGGREGATE Total S0.00 S0.00	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Solid Soli	JST0074	0300	AGGREGATE	Material		2		SYSTEM	(\$3,960.00)	
0300 - Total 0300 - Total 0300 0300 - Total 0300 - Total 0300 0300 - Total 0300 - Total 0300 0300 - Total 0300			FOR BASE		- Total				\$0.00	
OSTONE STONE STO				Material - Tota	ı				\$0.00	
OR CRUSHED STONE (B) -Total Material - Total MaterialCredit 3 Nov 18 SYSTEM \$4,270.00 -Total -To		0300 -	Total						\$0.00	
Material - Total (\$4,270.00)		0310	OR CRUSHED	Material		2		SYSTEM	(\$4,270.00)	
Material Credit 3			STONE (B)		- Total				(\$4,270.00)	
Continue				Material - Tota	ıl				(\$4,270.00)	
Material Credit - Total S4,270.00				MaterialCredit		3		SYSTEM	\$4,270.00	
0310 - Total \$0.00					- Total				\$4,270.00	
TACK COAT				MaterialCredit - Total					\$4,270.00	
2024 Estimate Item Adjustment (0009) due to user simmeg2 overridding Payment Estimate Exception 7 on the current Payment Estimate.		0310 -	Total						\$0.00	
2024 \$0.00		0330	TACK COAT	Material		2		SYSTEM	\$8,573.31	Estimate Item Adjustment (0009) due to user simmeg2 overridding Payment
Material - Total \$0.00						2		SYSTEM	(\$8,573.31)	
0330 - Total \$0.00				- Total					\$0.00	
0350				Material - Total					\$0.00	
WATERBORNE PAVEMENT MARKING REFL - Total \$232.60		0330 -	Total						\$0.00	
MARKING REFL - Total \$232.60		0350	WATERBORNE PAVEMENT		REFL	5		simmeg2	\$232.60	This is a Retro-Reflectivity bonus on Route WW in Barry County.
0350 - Total \$232.60					REFL - Total				\$232.60	
0420				Other Item Adjustment - Total					\$232.60	
WATERBORNE		0350 -	50 - Total							
MARKING		0420	WATERBORNE PAVEMENT		REFL	5		simmeg2	(\$129.98)	This is a Retro-Reflectivity bonus on Route HH in Greene County.
Overrun					REFL - Total				(\$129.98)	
2024				Other Item Adjustment - Total					(\$129.98)	
Overrun - Total (\$29.70) 0420 - Total (\$159.68) JST0074 - Total (\$199,018.45)				Overrun	4		SYSTEM	(\$29.70)		
0420 - Total (\$159.68) JST0074 - Total (\$199,018.45)					Overrun - T	verrun - Total			(\$29.70)	
JST0074 - Total (\$199,018.45)				Overrun - Total					(\$29.70)	
		0420 - Total							(\$159.68)	
Overall - Total (\$199.018.45)	JST0074 -	Total							(\$199,018.45)	
(****)	Overall -	Total						(\$199,018.45)		

MoDOT

Contract Adjustments for Contract - 240216-G12

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 11 of 11